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Today’s Question: 

 

 

PQRS * T =SRQP 

Where all the letters represent different digits find PQRST=? 

For example if P=1,Q=2,R=3,S=4 answer is 1234 

 

 

 

 

Note :Please send the solution of the puzzle to :-braingym@nitt.edu 

Yesterday’s Winners: 

We congratulate the winners of yesterday’s puzzle challenge!! 

 

(Answer : Most polluted cities in the world 

 

Received : 3 responses 

 

The first 3 students who responded with correct solution are given below: 

Name Roll No. Degree Branch / 

Specialization 

Year / Batch 

G. Pavithra 106119041 B.Tech. Computer Science I 

Kavin Selvaraj 414119003 PhD. Production I 

S. Revathy 108118096 B Tech Electronics and 

Communication 

II 

 

 

National Institute of Technology, Tiruchirappalli, 

Tamil Nadu - 620015 

 

 

 


